
Pr
es

cr
iz

io
ni

 p
er

 M
on

ta
gg

io
Pr

es
cr

ip
ti

on
 fo

r A
ss

em
bl

y
Av

vi
ta

re
 c

on
 L

oc
tit

e 
27

01
 F

re
na

fil
et

ti 
FO

RT
E 

(V
er

de
)

Sc
re

w
 w

ith
 L

oc
tit

e 
27

01
 th

re
ad

 lo
ck

 S
TR

O
N

G
 (g

re
en

)

In
co

lla
re

 c
on

 b
ia

de
si

vo
 a

cr
ili

co
 V

H
B 

3M
 4

94
5

G
lu

e 
w

ith
 V

H
B 

3M
 4

94
5 

ac
ry

lic
 b

ia
dh

es
iv

e

Si
gi

lla
re

 c
on

 A
re

xo
ns

 M
O

TO
RS

IL
 D

Se
al

 w
ith

 A
re

xo
ns

 M
O

TO
RS

IL
 D

Si
gi

lla
re

 c
on

 A
re

xo
ns

 M
as

tic
e

Se
al

 w
ith

 A
re

xo
ns

 F
ill

er

Si
gi

lla
re

 c
on

 L
ox

ea
l 5

9-
10

Se
al

 w
ith

 L
ox

ea
l 5

9-
10

Sp
ru

zz
ar

e 
un

 v
el

o 
di

 M
ol

yk
ot

e 
D

-3
21

R 
Sp

ra
y

Sp
ra

y 
on

 a
 li

gh
t c

oa
t o

f M
ol

yk
ot

e 
D

-3
21

R

In
co

lla
re

 c
on

 L
oc

tit
e 

45
4

G
lu

e 
w

ith
 L

oc
tit

e 
45

4

Av
vi

ta
re

 c
on

 L
ox

ea
l 2

4-
18

 F
re

na
fil

et
ti 

D
EB

O
LE

 (P
or

po
ra

)
Sc

re
w

 d
ow

n 
w

ith
 L

ox
ea

l 2
4-

18
 W

EA
K 

 (P
ur

pl
e)

 th
re

ad
 

se
al

er
Av

vi
ta

re
 c

on
 L

ox
ea

l 5
5-

14
 F

re
na

fil
et

ti 
M

ED
IO

 (R
os

so
)

Sc
re

w
 d

ow
n 

w
ith

 L
ox

ea
l 5

5-
14

 M
ED

IU
M

 (R
ed

) t
hr

ea
d 

se
al

er
Av

vi
ta

re
 c

on
 L

ox
ea

l 8
3-

21
 F

re
na

fil
et

ti 
FO

RT
E 

(V
er

de
)

Sc
re

w
 d

ow
n 

w
ith

 L
ox

ea
l 8

3-
21

 S
TR

O
N

G
 (G

re
en

) 
th

re
ad

 s
ea

le
r

M
on

ta
re

 a
 c

al
do

 c
on

 R
IS

CA
LD

AT
O

RE
A

ss
em

bl
e 

ho
t w

ith
 H

EA
TE

R

M
on

ta
re

 c
on

 P
RE

SS
A

A
ss

em
bl

e 
w

ith
 P

RE
SS

Lu
br

ifi
ca

re
 c

on
 G

RA
SS

O
 M

IN
ER

AL
E

Lu
br

ic
at

e 
w

ith
 M

IN
ER

A
L 

G
RE

A
SE

Lu
br

ifi
ca

re
 c

on
 O

LI
O

 M
O

TO
RE

Lu
br

ic
at

e 
w

ith
 E

N
G

IN
E 

O
IL

Co
pp

ia
 se

rr
ag

gi
o 

To
lle

ra
nz

a 
+0

/-
10

%
 N

m
Ti

gh
te

ni
ng

 to
rq

ue
 to

le
ra

nc
e 

+0
/-

10
%

 N
m

Lu
br

ifi
ca

re
 c

on
 G

RA
SS

O
 P

40
Lu

br
ic

at
e 

w
ith

 P
40

 G
RE

A
SE

Lu
br

ifi
ca

re
 c

on
 G

RA
SS

O
 M

ol
yk

ot
e 

10
00

Lu
br

ic
at

e 
w

ith
 M

ol
yk

ot
e 

10
00

 G
RE

A
SE

Lu
br

ifi
ca

re
 c

on
 G

RA
SS

O
 M

ol
yk

ot
e 

PG
54

Lu
br

ic
at

e 
w

ith
 M

ol
yk

ot
e 

PG
54

 G
RE

A
SE

Av
vi

ta
re

 c
on

 L
oc

tit
e 

53
31

 (B
ia

nc
a)

Sc
re

w
 d

ow
n 

w
ith

 L
oc

tit
e 

53
31

 (W
hi

te
) 

Lu
br

ifi
ca

re
 c

on
 G

RA
SS

O
 M

ol
yk

ot
e 

G
80

7
Lu

br
ic

at
e 

w
ith

 M
ol

yk
ot

e 
G

80
7 

G
RE

A
SE

A
vv

it
ar

e 
co

n 
Lo

xe
al

 8
3-

55
 / 

Sc
re

w
 w

ith
 L

ox
ea

l 8
3-

55

Lu
br

ifi
ca

re
 c

on
 g

ra
ss

o 
M

ol
yk

ot
e 

Lo
ng

te
rm

 W
2

Lu
br

ic
at

e 
w

ith
 g

re
as

e 
M

ol
yk

ot
e 

Lo
ng

te
rm

 W
2

Ve
rn

ic
ia

to
 b

uc
ci

at
o 

RA
L 

70
16

Pa
in

te
d 

RA
L 

70
16

W
A

RR
A

N
TY

O
ur

 p
ro

du
ct

s 
ar

e 
gu

ar
an

te
ed

 f
or

 a
 p

er
io

d 
of

 1
2 

m
on

th
s 

af
te

r 
th

e 
da

te
 o

f 
de

liv
er

y.
 

W
ar

ra
nt

y 
w

ill
 n

ot
 b

e 
ac

kn
ow

le
dg

ed
 i

f 
th

e 
pr

od
uc

ts
 a

re
 n

ot
 u

se
d 

ac
co

rd
in

g 
to

 t
he

 
m

an
uf

ac
tu

re
r’s

 
in

st
ru

ct
io

n 
or

 
ar

e 
ba

dl
y 

m
ai

nt
ai

ne
d.

 A
lw

ay
s 

as
k 

fo
r 

or
ig

in
al

 S
pa

re
-

pa
rt

s, 
ot

he
rw

is
e 

w
ar

ra
nt

y 
w

ill
 

no
t 

be
 

ac
kn

ow
le

dg
ed

.

G
A

RA
N

TI
E

N
os

 p
ro

du
its

 s
on

t 
ga

ra
nt

is
 p

ou
r 

12
 m

oi
s 

à 
pa

rt
ir 

de
 l

a 
da

te
 d

e 
liv

ra
is

on
. 

Au
cu

ne
 

ga
ra

nt
ie

 
ne

 
se

ra
 

re
co

nn
ue

, 
su

ite
 

au
 

m
au

va
is

 e
nt

re
tie

n 
ou

 e
m

pl
oi

 a
no

rm
al

 d
es

 
pr

od
ui

ts
. P

ou
r t

ou
s v

os
 b

es
oi

ns
 d

e 
pi

èc
es

 d
e 

re
ch

an
ge

, d
em

an
de

z 
to

uj
ou

rs
 le

s r
ec

ha
ng

es
 

or
ig

in
au

x.
 A

u 
co

nt
ra

ire
, a

uc
un

e 
ga

ra
nt

ie
 n

e 
se

ra
 re

co
nn

ue
.

G
A

RA
N

TI
E

D
ie

 F
irm

a 
ge

w
äh

rt
 e

in
e 

G
ar

an
tie

 v
on

 1
2 

M
on

at
en

, 
ge

re
ch

ne
t 

vo
m

 
Li

ef
er

da
tu

m
. 

Zw
ec

kf
re

m
de

r E
in

sa
tz

 u
nd

/o
de

r n
ac

hl
äs

si
ge

 
W

ar
tu

ng
 s

ch
lie

ße
n 

je
de

 G
ar

an
tie

 a
us

. 
Im

 
Be

da
rf

sf
al

l 
im

m
er

 O
rig

in
al

-E
rs

at
zt

ei
le

 v
on

 
de

r 
Fi

rm
a 

an
fo

rd
er

n.
 

A
nd

er
en

fa
lls

 
ka

nn
 

ke
in

e 
G

ar
an

tie
 g

ew
äh

rt
 w

er
de

n.

G
A

RA
N

TÍ
A

N
ue

st
ro

s 
pr

od
uc

to
s 

es
tá

n 
ga

ra
nt

iz
ad

os
 

po
r 

12
 m

es
es

 d
es

de
 la

 fe
ch

a 
de

 la
 e

nt
re

ga
. 

N
in

gu
na

 g
ar

an
tía

 s
er

á 
re

co
no

ci
da

 p
or

 m
al

o 
en

tr
et

en
im

ie
nt

o 
o 

po
r 

us
o 

 i
nc

or
re

ct
o 

de
 

lo
s 

pr
od

uc
to

s. 
Pi

da
n 

si
em

pr
e 

re
pu

es
to

s 
or

ig
in

al
es

. 
En

 
ca

so
 

co
nt

ra
rio

 
no

 
se

 
re

co
no

ce
rá

 n
in

gu
na

 g
ar

an
tía

.

G
A

RA
N

ZI
A

I 
no

st
ri 

pr
od

ot
ti 

so
no

 g
ar

an
tit

i 
pe

r 
m

es
i 

12
 d

al
la

 c
on

se
gn

a.
 L

a 
D

itt
a 

si
 a

ss
um

e 
la

 
re

sp
on

sa
bi

lit
à 

pe
r 

tu
tt

i 
qu

ei
 

pa
rt

ic
ol

ar
i 

ch
e 

pr
es

en
ta

ss
er

o 
di

fe
tt

i 
di

 m
at

er
ia

le
 o

 d
i 

la
vo

ra
zi

on
e.

 N
on

 è
 r

ic
on

os
ci

ut
a 

la
 g

ar
an

zi
a 

pe
r 

ca
tt

iv
a 

m
an

ut
en

zi
on

e,
 

an
or

m
al

e 
im

pi
eg

o 
e 

pe
r 

qu
el

le
 p

ar
ti 

no
n 

co
st

ru
ite

 
da

lla
 D

itt
a.

 L
e 

rip
ar

az
io

ni
 d

ov
ra

nn
o 

es
se

re
 

eff
et

tu
at

e 
pr

es
so

 la
 fa

bb
ric

a 
o 

da
 p

er
so

na
le

 
au

to
riz

za
to

. 
N

el
lo

 s
te

ss
o 

is
ta

nt
e 

in
 c

ui
 i

 
pr

od
ot

ti 
sa

ra
nn

o 
m

an
om

es
si

 d
a 

te
rz

i, 
og

ni
 

ga
ra

nz
ia

 
sa

rà
 

rit
en

ut
a 

sc
ad

ut
a.

 
Pe

r 
og

ni
 

ve
rifi

ca
 i 

pr
od

ot
ti 

do
vr

an
no

 e
ss

er
e 

in
vi

at
i i

n 
Po

rt
o 

Fr
an

co
. N

el
 c

as
o 

di
 e

ffe
tt

iv
a 

ne
ce

ss
ità

 
di

 s
os

tit
uz

io
ne

 d
i p

ar
tic

ol
ar

i s
ar

à 
ad

de
bi

ta
to

 
il 

so
lo

 c
os

to
 d

el
la

 m
an

o 
d’

op
er

a.
 P

er
 il

 v
os

tr
o 

fa
bb

is
og

no
 

di
 

ric
am

bi
 

ch
ie

de
te

 
se

m
pr

e 
ric

am
bi

 o
rig

in
al

i. 
In

 c
as

o 
di

ve
rs

o 
no

n 
sa

rà
 

ric
on

os
ci

ut
a 

al
cu

na
 g

ar
an

zi
a.

N
um

er
o 

pe
r o

rd
in

i t
el

ef
on

ic
i:	

(+
39

) 0
59

.4
14

.4
11

N
um

er
o 

pe
r o

rd
in

i c
on

 fa
x:

(+
39

) 0
59

.2
53

.5
05

F D E IG
B

M
em

be
r o

f
A

N
N

O
V

I R
EV

ER
BE

RI
 S

.p
.A

.
Via

 M
art

in 
Lu

th
er 

Kin
g,3

 - 
41

12
2 M

od
en

a (
Ita

ly)
Te

l. (
+

39
) 0

59
.41

4.4
11

 - T
ele

fax
 (+

39
) 0

59
.25

3.5
05

E -
 M

ail
 Ita

lia
: a

gri
co

ltu
ra.

it@
an

no
vir

ev
erb

eri
.it

E -
 M

ail
 ex

po
rt:

 ag
ric

ult
ure

.ex
po

rt@
an

no
vir

ev
erb

eri
.it

Re
m

ot
e 

Co
nt

ro
l	

G
ru

po
s 

de
 m

an
do

G
ro

up
es

 d
e 

co
m

m
an

de
	

G
ru

pp
i c

om
an

do
	

Se
pa

ra
te

 B
ed

ie
nu

ng
sa

rm
at

ur
en

G
H

50
V

H
50

TE
CH

N
IC

A
L 

D
AT

A
 / 

D
O

N
N

ÉE
S 

TE
CH

N
IQ

U
ES

 / 
TE

CH
N

IS
CH

E 
A

N
G

A
BE

N
CA

RA
C

TE
RÍ

ST
IC

A
S 

TÉ
CN

IC
A

S 
/ C

A
RA

C
TE

RÍ
ST

IC
A

S 
TÉ

CN
IC

A
S 

/ C
A

RA
TT

ER
IS

TI
CH

E 
TE

CN
IC

H
E

cod. 90165-DN

CO
N

TR
O

L 
U

N
IT

S
G

RO
U

PE
S 

D
E 

CO
M

M
AN

D
E

BE
D

IE
N

U
N

G
SA

RM
AT

U
RE

N
G

RU
PO

S 
D

E 
M

A
N

D
O

G
RU

PP
I C

O
M

A
N

D
O

O
U

TP
U

T
D

ÉB
IT

LE
IS

TU
N

G
CA

U
D

A
L

PO
RT

AT
A

PR
ES

SU
RE

PR
ES

SI
O

N
D

RU
CK

PR
ES

IÓ
N

PR
ES

SI
O

N
E

N
. V

A
LV

ES
N

. R
O

BI
N

ET
S

N
. V

EN
TI

LE
N

VÁ
LV

U
LA

S
N.

 R
UB

IN
ET

TI

W
EI

G
H

T
PO

ID
S

G
EW

IC
H

T
PE

SO
PE

SO

l/m
in

gp
m

 (U
S)

ba
r

ps
i

kg

G
H

 5
0

V
H

 5
0

20
0

20
0

52
,8

52
,8

50 50
72

5
72

5
(2

)*
(2

)*
3,

8
2,

5

* 
A r

ich
ies

ta
 / 

On
 re

qu
es

t

Th
is 

m
an

ua
l m

us
t b

e r
ea

d b
efo

re
 be

gin
nin

g i
ns

ta
lla

tio
n o

f t
he

 un
it.

Ce
 liv

re
t d

oit
 êt

re
 lu

 av
an

t d
’in

sta
lle

r e
t d

’em
plo

ye
r l

e p
ro

du
it.

Da
s v

or
lie

ge
nd

e H
an

db
uc

h i
st 

vo
r d

er
 In

sta
lla

tio
n u

nd
 de

m
 G

eb
ra

uc
h d

es
 Pr

od
uk

ts 
au

fm
er

ks
am

 zu
 le

se
n.

Es
te

 m
an

ua
l d

eb
e s

er
 le

ído
 an

te
s d

e p
ro

ce
de

r a
 la

 in
sta

lac
ión

 Y 
us

o d
el 

pr
od

uc
to

.
Es

te
 m

an
ua

l d
ev

e s
er

 lid
o a

nt
es

 de
 pr

oc
ed

er
 à 

la 
ins

ta
laç

ão
 e 

ao
 us

o d
o p

ro
du

cto
.

Il p
re

se
nt

e l
ibr

et
to

 va
 le

tto
 pr

im
a d

i p
ro

ce
de

re
 al

l’in
sta

lla
zio

ne
 ed

 us
o d

el 
pr

od
ot

to
.

A
T

TE
N

TI
O

N
:

A
T

TE
N

TI
O

N
:

A
C

H
T

U
N

G
:

A
T

E
N

C
IÓ

N
:

A
T

E
N

Ç
Ã

O
 :

AT
TE

N
ZI

O
N

E:

Characteristics and descriptions are not binding. -Données descriptions et illustrations n’ engagement pas le constructeur. - Angaben, Beschreibungen, und illustrationen sind nicht 
verbindlich. - Noticias y ilustraciones no son empeñativas. - Os dados, descrições e ilustrações são fornecidos a título informativo e não comprometem o fabricante. - Dati, descrizioni ed 
illustrazioni sono forniti a titolo indicativo e non impegativo.

G
H

 5
0 

co
d.

 9
62

VH
 5

0 
co

d.
 9

58



UN000656-CD

2 - 1

GH 50 cod.962

59
58

44

51 52

54 63

53

42

50

49

48

47

25

46

40

55

65 36

32
31

45
35 43

56

39 37

25

39

38

24

25

41 36

23

sp
_g

h5
0_
vh
50
.p
df

CM
 68

86
00

Pos Cod. Descrizione Description Q.ty Note

23 620610 Vite TCEI M8x30 Screw 2 C20

24 550394 Flangia Flange 1
25 550350 Guarnizione OR Ø 23,81x2,62 O-ring 4
31 1880290 Manometro Ø63 Pressure gauge 1 0-80 bar  
32 130170 Raccordo Fitting 1  C20

35 280220 Guarnizione OR Ø 29,75x3,53 O-ring 1
36 130171 Tappo 3/8” G Plug 2  C20

37 550210 Tubo Ø 25 Pipe 1    Optional
38 550370 Curva Ø 25 Elbow 1
39 550242 Girello 1” G Ring nut 1
40 390740 Membrana Diaphragm 1 NBR
41 680412 Corpo valvola Valve body 1
42 680423 Castello valvola Body valve 1
43 680432 Flangia Flange 1
44 680442 Forcella Fork 1
45 680460 Sede Seat 1
46 680470 Valvola Valve 1
47 680480 Pistone Piston 1
48 680490 Centraggio Ring 1
49 680500 Molla Spring 1
50 680510 Guida Guide 1
51 680520 Forcella Fork 1
52 680530 Spina Pin 1
53 680540 Spina Pin 2
54 680550 Spina Pin 1
55 680700 Vite TCEI M6x20 Screw 1 Inox   C10

56 680570 Vite TCEI M6x60 Screw 4 C10

58 660130 Pomello Knob 1
59 180150 Dado M10 Nut 1
63 680452 Leva Lever 1
65 320420 Molla Spring 1

  A richiesta - Optional

Pos Cod. Descrizione Description Q.ty Note

KIT 1936
Pronto intervento - Maintenance repair

Pos. Q.ty Pos. Q.ty

25 4
35 1
38 1
40 1
45 1
46 1
65 1

MI 90165DI 688500

Posizione targa di 
identificazione.

Pump and 
manufacturer 
identification.

68 Series



SL000102-EY

3 - 1

VH 50	 cod. 958 (portagomma dritto - straight hose tail)
	 cod. 31230 (portagomma curvo - curved hose tail)

50

69

49

66

46

40

55

65

67

36

32
31

45
35 43

56

39 37

2524

25

41

71
70

36

23

47

68

39

38

sp
_g

h5
0_
vh
50
.p
df

CM
 11

58
61

1

Pos Cod. Descrizione Description Q.ty NotePos Cod. Descrizione Description Q.ty Note

23 620610 Vite TCEI M8x30 Screw 2 C20

24 550394 Flangia Flange 1
25 550350 Guarnizione OR Ø 23,81X2,62 O-ring 2
31 1880290 Manometro Pressure gauge 1 0-80 bar
32 130170 Raccordo Fitting 1  C20

35 280220 Guarnizione OR Ø 29,75x3,53 O-ring 1
36 130171 Tappo 3/8” G Plug 2  C20

37 550210 Tubo Ø 25 Pipe 1 cod.958
38 550370 Curva Ø 25 Pipe 1 cod.31230
39 550242 Girello 1” G Ring nut 1
40 1150130 Membrana Diaphragm 1 Desmopan
41 680413 Corpo valvola Valve body 1
43 680432 Flangia Flange 1
45 680462 Sede Seat 1
46 1150070 Valvola Valve 1
47 1150180 Pistone Piston 1
49 1150190 Molla Spring 1
50 1150200 Piattello Wobble plate 1
55 680700 Vite TCEI M6x20 Screw 1 Inox  C10

56 1150940 Vite TCEI M6x60 Screw 4 C10

65 320420 Molla Spring 1
66 620031 Guarnizione OR Ø 24,99x3,53 O-ring 1
67 1150171 Corpo guida molla Body 1
68 820490 Guarnizione OR Ø 34,65x1,78 O-ring 1
69 1150920 Manopola Knob 1
70 390440 Dado M6 Nut 4 C10

71 550331 Rondella Washer 4

DI 1158510 MI 90165

Posizione targa di 
identificazione.

Pump and 
manufacturer 
identification.

115 Series



GH 50

VH 50

Ø 3/4" G

120

215 109

229,5 17

10
2

10
4

74

16
9

Ø 25

228

1000

800

600

400

20
0

10
20

30 50
60

P.S.I.

80
70

0
bar

40

Ø 3/4" G

124

170 104

10
2

40
14

2

Ø
 2

5

274

SAFETY INSTRUCTIONS
This manual must be stored carefully. Read and follow the following safety instructions:
• Do not use the unit with flammable liquids, or liquids with characteristics not compatible with 

the correct functioning of the unit.
• The installation of the unit must be carried out by qualified staff.

INSTRUCTIONS DE SÉCURITÉ
Conserver ce manuel avec le plus grand soin. Lire et respecter les instructions de sécurité ci-des-

sous:
• Ne pas utiliser le produit avec des fluides inflammables ou ayant des caractéristiques incom-

patibles avec le fonctionnement correct du produit lui-même.
• L’installation du produit doit être effectuée par un personnel qualifié.

SICHERHEITSANLEITUNGEN
Vorliegendes Handbuch sorgfältig aufbewahren und folgende Sicherheitsanleitungen auf-

merksam lesen und beachten: 
•	Produkt nicht mit entzündbaren oder sonstigen Flüssigkeiten verwenden, deren Eigenschaf-

ten mit einem einwandfreien Betrieb des Produkts nicht vereinbar sind. 
•	Die Produktinstallation ist von qualifiziertem Fachpersonal vorzunehmen.

INSTRUCCIONES PARA LA SEGURIDAD
Es necesario conservar con cuidado el presente manual, leer y respetar las siguientes ins-

trucciones para la seguridad:
• No utilizar el producto con fluidos inflamables o que tengan características no compatibles 

con el correcto funcionamiento del producto.
•	La instalación del producto debe ser efectuada por personal especializado.

ISTRUZIONI PER LA SICUREZZA
È necessario conservare con cura il presente manuale, leggere e rispettare le seguenti istru-

zioni per la sicurezza:
• Non utilizzare il prodotto con fluidi infiammabili o aventi caratteristiche non compatibili 

con il corretto funzionamento del prodotto stesso.
• L'installazione del prodotto deve essere effettuata da personale qualificato.

GB

F

D

4 - 1

4 - 2

E

I

DI
 68

85
00

DI
 11

58
51

0

DIMENSIONI / DIMENSIONS / DIMENSIONS / ABMESSUNGEN / DIMENSIONES


